

698 Morgantown Rd Franklin KY 42134 Phone: (270) 586-3443 Emergency: 1-888-281-9133

Fax: (270) 393-2615

RECEIVED

August 24, 2017

SEP 0 1 2017

PUBLIC SERVICE COMMISSION

Ms. Talina Mathews, Executive Director Executive Director, Public Service Commission PO Box 615 / 211 Sower Blvd. Frankfort, KY 40602

RE: Case #

Gas Cost Adjustment Report

Dear Ms. Mathews:

The following document is Millennium Energy's Gas Cost Adjustment Report for the quarter of October 1, 2017 to December 31, 2017.

Sincerely,

Patty Kantosky

V.P. of Member & Customer Services

		Appendix B Page 1
_		RECEIVED
		SEP 0 1 2017
	QUARTERLY REPORT OF GAS COST RECOVERY RATE CALCULATION	PUBLIC SERVICE COMMISSION
Date Filed: 1-Sep-17		
Date Rates to be Effective:	October 1, 2017 To December 31, 2017	
Reporting Period is Calendar	r Quarter Ended: May 1, 2017 To July 31, 2017	

GCA 10-01-17.xls Page 1

SCHEDULE I GAS COST RECOVERY RATE SUMMARY

Component	<u>Unit</u>		Amount
Expected Gas Cost (EGC) + Refund Adjustment (RA) + Actual Adjustment (AA) + Balance Adjustment (BA) = Gas Cost Recovery Rate (GCR)	\$/Mcf \$/Mcf \$/Mcf \$/Mcf		3.6318 - 0.1348 0.0302 3.7968
	φ/IVICI I-17 To 12-31-1	7	3.7900
A. <u>EXPECTED GAS COST CALCULATION</u>	<u>Unit</u>		<u>Amount</u>
Total Expected Gas Cost (Schedule II) + Sales for the 12 months ended 7/31/2017 - Expected Gas Cost (EGC)	\$ Mcf \$/Mcf		455,722.75 125,480.10 3.6318
B. REFUND ADJUSTMENT CALCULATION	<u>Unit</u>		<u>Amount</u>
Supplier Refund Adjustment for Reporting Period (Sch. III) + Previous Quarter Supplier Refund Adjustment + Second Previous Quarter Supplier Refund Adjustment + Third Previous Quarter Supplier Refund Adjustment = Refund Adjustment (RA)	\$/Mcf \$/Mcf \$/Mcf \$/Mcf	\$ \$ \$ \$ \$	· •
C. <u>ACTUAL ADJUSTMENT CALCULATION</u>	<u>Unit</u>		Amount
Actual Adjustment for the Reporting Period (Schedule IV) + Previous Quarter Reported Actual Adjustment + Second Previous Quarter Reported Actual Adjustment + Third Previous Quarter Reported Actual Adjustment =Actual Adjustment (AA)	\$/Mcf \$/Mcf \$/Mcf \$/Mcf	\$ \$ \$ \$	(0.0499) (0.0154) 0.1581 0.0420 0.1348
D. BALANCE ADJUSTMENT CALCULATION	<u>Unit</u>		Amount
Balance Adjustment for the Reporting Period (Schedule V) + Previous Quarter Reported Balance Adjustment + Second Previous Quarter Reported Balance Adjustment + Third Previous Quarter Reported Balance Adjustment =Balance Adjustment (BA)	\$/Mcf \$/Mcf \$/Mcf \$/Mcf	\$ \$ \$	0.0136 0.0119 0.0040 0.0007 0.0302

SCHEDULE II							
EXPECTED GAS (COST						

Appendix B Page 3

(J32*J33 if line loss) \$

Actual* Mcf Purchase for 12 months ende	d		07/31/17			_	
(1)	(2)	(3) Heat	(4)	(5)	(6) (2) x (5)		
Supplier	<u>Dth</u>	Rate	Mcf	Rate	Cost		
Aug-16 Utility Gas Management	8,577.00	1.0636	8,064.00	3.34667	28,704.39		
Sep-16 Utility Gas Management	8,816.00	1.0628	8,295.00	3.34667	29,504.24		
Oct-16 Utility Gas Management	10,710.00	1.0604	10,100.00	3.34667	35,842.84		
Nov-16 Utility Gas Management	12,260.00	1.0651	11,511.00	3.34667	41,030.17		
Dec-16 Utility Gas Management	14,811.00	1.0644	13,915.00	3.34667	49,567.53		
Jan-17 Utility Gas Management	14,780.00	1.0620	13,917.00	3.34667	49,463.78		
Feb-17 Utility Gas Management	13,073.00	1.0619	12,311.00	3.34667	43,751.02		
Mar-17 Utility Gas Management	14,324.00	1.0610	13,501.00	3.34667	47,937.70		
Apr-17 Utility Gas Management	10,375.00	1.0586	9,801.00	3.34667	34,721.70		
May-17 Utility Gas Management	10,057.00	1.0536	9,545.00	3.34667	33,657.46		
Jun-17 Utility Gas Management	9,542.00	1.0513	9,076.00	3.34667	31,933.93		
Jul-17 Utility Gas Management	8,847.00	1.0619	8,331.00	3.34667	29,607.99		
Totals	136,172.00	1.0608	128,367.01	3.34667	455,722.75		
Line losses are	2.25%	for 12 months ended		based on pu	rchases of		
128,367.01 Mcf and sales of		125,480.10	Mcf.				
					Unit	Am	ount
Total Expected Cost of Purchases (6) (to Schedule IA.)			S	\$	455,722.7
Expected Mcf Purchases (4)					Mcf		128,367.0
= Average Expected Cost Per Mcf Purc	hased				\$/Mcf	\$	3.550
Plus: Expected Losses of		(not to exceed 5%)	(D26/0.95)	if line loss > 5%	Mcf		455,722.7
- Total Europeted Con Cont				+122 (01)	0	-	455 700 71

455,722.75

455,722.75

= Total Expected Gas Cost

Allowable Sales (maximum losses of 5%).

^{*}Or adjusted pursuant to Gas Cost Adjustment Clause and explained herein.

^{**}Supplier's tariff sheets or notices are attached.

Appendix B Page 4

SCHEDULE III SUPPLIER REFUND ADJUSTMENT

Details for the 3 months ended

7/31/2017

Particulars Total supplier refunds received + Interest	<u>Unit</u> \$ \$	<u>Am</u> \$ \$	<u>-</u>
= Refund Adjustment including interest + Sales for 12 months ended 7/31/2017	\$ Mcf	\$	125,480
=Supplier Refund Adjustment for the Reporting Period (to Schedule IB.)	\$/Mcf	\$	- ,

SCHEDULE IV ACTUAL ADJUSTMENT

Appendix B Page 5

For the 3 month period ended _____ 7/31/2017

		Mor	nth 1	Мо	nth 2	Мо	onth 3
<u>Particulars</u>	<u>Unit</u>		May-17		Jun-17		<u>Jul-17</u>
Total Supply Volumes Purchased	Mcf		9,545.00		9,076.00		8,331.00
Utility Gas Management Total Cost of Volumes Purchased	\$	\$	30,986.15	\$	30,657.21	\$	26,958.00
Total Sales	Mcf		9,067.75		8,827.50		8,094.30
(may not be less than 95% of supply volumes) (G8*0.95)							
= Unit Cost of Gas	\$/Mcf	\$	3.4172	\$	3.4729	\$	3.3305
- EGC in effect for month	\$/Mcf	\$	3.5642	\$	3.5642	\$	3.8425
= Difference [(Over-)/Under-Recovery]	\$/Mcf	\$	(0.1470)	\$	(0.0913)	\$	(0.5120)
x Actual sales during month	Mcf		8,894.10	-	8,827.50	17.	8,094.30
= Monthly cost difference	\$		(1,307.58)		(805.77)		(4,144.35)
Total cost difference (Month 1 + Month 2 + Month 3 + Mon	nth 3)	<u>Unit</u>	1	<u>Am</u> \$	ount (6,257.70)		
+ Sales for 12 months ended 7/31/2017		Mcf		-	125,480		
= Actual Adjustment for the Reporting Period (to Schedule IC.)		\$/M	cf	\$	(0.0499)		

SCHEDULE V BALANCE ADJUSTMENT

Appendix B Page 6

For the 3 month period ended

7/31/2017

Line	Particulars	Unit	Amount
	Utility Gas Management		
(1)	Total cost difference from actual adjustment used to compute		
	AA of the GCR effective four quarters prior to the effective date of		
1	the currently effective GCR.	\$	(19,996.64) Case No. 2016-00189 07-01-16 to 09-30-16
2 Less:	Dollars amount resulting from the AA of (0.1730) \$/MCF		07-01-10 to 03-30-10
	as used to compute the GCR in effect four quarters prior to the effective		
	date of the currently effective GCR times the sales of 125,480		
3	MCF during the 12 month period the AA was in effect.	\$	(21,708.06)
4 Equals:	Balance Adjustment for the AA.	\$	1,711.42
(3)	Total Supplier Refund Adjustment including interest used to		
****	compute RA of the GCR effective four quarters prior to the effective		
5	date of the currently effective GCR.	\$	(4)
6 Less:	Dollar amount resulting from the RA of - \$/MCF		
	as used to compute the OCR in effect four quarters prior to the		
	effective GCR times the sales of 125,480 MCF		
7	during the 12 month period the RA was in effect.	\$	
8 Equals:	Balance Adjustment for the RA.	\$	
(3)	Total Balance Adjustment used to compute RA of the GCR effective four		
9	quarters prior to the effective date of the currently effective GCR.	\$	
10 Less:	Dollar amount resulting from the BA of - \$/MCF		
	four quarters prior to the effective date of the currently effective		
aa.	GCR times the sales of 125,480 MCF during the 12 month	•	
11	period the BA was in effect.	\$	
12 Equals:	Balance Adjustment for the BA.	\$	
13	Total Balance Adjustment Amount (1) + (2) + (3)	\$	1711.42
14 Divided	E Sales for 12 months ended 7/31/2017	\$	125,480
		211	
15 Equals:	Balance Adjustment for the RV.P. of Operations	\$/MCF	0.0136

FOR	ENTIRE AREA SERV	VED
P.S.C.	KY. NO.	
1st	SHEET NO.	7
Cancel	ing P.S.C. KY NO.	
	SHEET NO.	

Millennium Energy, Inc.

RULES AND REGULATIONS

Gas Cost Adjustment Clause

The rates authorized herein are based upon the wholesale cost of gas to Millennium Energy, inc. as computed using rates of its wholesale suppliers currently in effect. In the event there is an increase or decrease in wholesale gas cost Millennium shall file with this Commission the following information within 30 days:

- 1. A copy of the contract or wholesale supplier notification effecting the change in rate and a statement relative to the effective rate of such proposed change.
- 2. A statement setting out gas sales for the most recent 12 months.
- 3. A statement setting out the details of gas purchased for the most recent 12 months showing billing from the supplier(s) under the most recent rate(s) and under the proposed supplier rate. The difference between the amounts so determined shall be divided by Millennium's sales for the most recent 12 months, provided Millennium's line loss for the same 12 month period does not exceed 5%. If line loss exceeds 5%, the difference shall be divided by allowable sales calculated as (purchases x .95).
- 4. A signed and dated tariff sheet showing Millennium's proposed rates for service based on the change in supplier rate. An increase in rates shall not be effective with less than 30 days notice unless a waiver is requested and granted.
- Such other information as this Commission may request for a proper determination of the purchased gas adjustment.

In the event that Millennium receives from its supplier a refund, bill adjustment or credit of amounts paid to such supplier in respect of a prior period, Millennium will apply to the Commission within 30 days for authority to make adjustments on the rates charged to its customers under this provision as follows:

1. The "refundable amount" shall be the amount received by Millennium as a refund. Each refundable amount shall be divided by the Mcfs of gas that Millennium estimates it will sell to its customers during the four month period commencing with the first day of the month following receipt of the refunds, thus determining a "refund adjustment"

DATE OF ISSUE	September 1, 2017			DATE EFFECTIVE	October 1, 2017			
	MONTH	DAY	YEAR	-	MONTH	DAY	YEAR	
SIGNED BY:	Pattika	-today	V.P. of	Member & Customer Se	ervices			
	NAME OF	OFFICER	TITLE	ADDRESS				

GCA 10-01-17.xls Page 1

FOR	ENTIRE A	REA SER	/ED	
P.S.C. KY	/. NO	1		
1st	SHI	EET NO	8	
Canceling	P.S.C. KY	' NO		
	SHE	ET NO		

Millennium Energy, Inc. RULES AND REGULATIONS

- Upon commission approval, Millennium will reduce by the calculated factor any purchased gas adjustment that would otherwise be applicable during such period.
- 3. In the event of any large or unusual refund, Millennium may apply to the commission for the right to depart from the refund procedure herein set forth.
- 4. If the cause for the usage deviation cannot be determined from analysis of the customer's meter reading and billing records, the Company will contact the customer by telephone or in writing to determine whether there have been changes such as different number of household members or work staff, additional or different appliances, changes in business volume, or known leaks in the customer's service line.
- 5. Where the deviation is not otherwise explained, the Company will test the customer's meter to determine whether it shows an average error greater than 2 percent fast or slow.
- The Company will notify the customers of the investigation, its findings, and any refunds or back billing in accordance with 807 KAR 5:006, Section 10 (4) and (5).

In addition to the annual monitoring, the Company will immediately investigate usage deviations brought to its attention as a result of its on going meter reading or billing processes or customer inquiry.

Upon receipt of the required information, the Commission shall review the proposed increase, reduction, or refund and, within 30 days from receipt of the information required, issue its Order setting out the proper revised rates or otherwise acting to investigate or suspend the proposed rates.

DATE OF ISSUE	September 1, 2017			DATE EFFECTIVE	Octo		
	MONTH	DAY	YEAR	-	MONTH	DAY	YEAR
SIGNED BY:	Palty Ka NAME OF			Member & Customer Se E ADDRESS	ervices		

GCA 10-01-17.xls Page 2

MILLENNIUM ENERGY Purchased Gas Adjustment Calculation [1]

Line	Wholesale	Purchased Gas (@ Delivery Point)					
No	Supplier	Month	Amount	Quantity	Heat Rate	Quantity	Avg. Rate
			(\$)	(decatherms)	(dt/mcF)	(mcF)	\$/mcF
	(a)	(b)	(c)	(d)	(e)	(f)	(g)
1	Utility Gas Management	Aug-16	24,116.44	8,577.00	1.0636	8,064.00	2.99
2	Utility Gas Management	Sep-16	25,794.15	8,816.00	1.0628	8,295.00	3.11
3	Utility Gas Management	Oct-16	34,297.84	10,710.00	1.0604	10,100.00	3.40
4	Utility Gas Management	Nov-16	35,650.10	12,260.00	1.0651	11,511.00	3.10
5	Utility Gas Management	Dec-16	52,353.74	14,811.00	1.0644	13,915.00	3.76
6	Utility Gas Management	Jan-17	64,558.34	14,780.00	1.0620	13,917.00	4.64
7	Utility Gas Management	Feb-17	46,818.06	13,073.00	1.0619	12,311.00	3.80
8	Utility Gas Management	Mar-17	40,151.67	14,324.00	1.0610	13,501.00	2.97
9	Utility Gas Management	Apr-17	32,262.04	10,375.00	1.0586	9,801.00	3.29
10	Utility Gas Management	May-17	30,986.15	10,057.00	1.0536	9,545.00	3.25
11	Utility Gas Management	Jun-17	30,657.21	9,542.00	1.0513	9,076.00	3.38
12	Utility Gas Management	Jul-17	26,958.00	8,847.00	1.0619	8,331.00	3.24
	Total		444,603.74	136,172.00	1.0608	128,367.01	3.46

^[1] Losses are based on a 12-month moving average.

MILLENNIUM ENERGY Purchased Gas Adjustment Calculation [1]

Wholesale Supplier	Monthly Gas Sales			12-Months Gas Totals			Recovery Rate	
	Quantity	Losses	Avg. Rate	Purchases	Sales	Losses	Cost	Rate
	(mcF)	(%)	(\$/mcF)	(mcF)	(mcF)	(%)	(\$)	(\$/mcF)
(a)	(h)	(i)	(j)	(k)	(1)	(m)	(n)	(o)
Utility Gas Management	7,978.40	1.06%	3.02	8,064.00	7,978	1.06%	24,116	3.02
Utility Gas Management	8,605.10	-3.74%	3.00	16,359.00	16,584	-1.37%	49,911	3.01
Utility Gas Management	9,296.70	7.95%	3.69	26,459.00	25,880	2.19%	84,208	3.25
Utility Gas Management	11,294.10	1.88%	3.16	37,970.00	37,174	2.10%	119,859	3.22
Utility Gas Management	14,538.80	-4.48%	3.60	51,885.00	51,713	0.33%	172,212	3.33
Utility Gas Management	13,638.30	2.00%	4.73	65,802.01	65,351	0.68%	236,771	3.62
Utility Gas Management	11,837.10	3.85%	3.96	78,113.00	77,189	1.18%	283,589	3.67
Utility Gas Management	12,585.80	6.78%	3.19	91,614.00	89,774	2.01%	323,740	3.61
Utility Gas Management	9,889.90	-0.91%	3.26	101,415.00	99,664	1.73%	356,002	3.57
Utility Gas Management	8,894.10	6.82%	3.48	110,960.00	108,558	2.16%	386,989	3.56
Utility Gas Management	8,827.50	2.74%	3.47	120,036.00	117,386	2.21%	417,646	3.56
Utility Gas Management	8,094.30	2.84%	3.33	128,367.01	125,480	2.25%	444,604	3.54
Total	125,480.10	2.25%	3.54	128,367.01	125,480.10	2.25%	444,604	3.54

^[1] Losses are based on a

Meador, Wendy

From:

Ron Ragan < ron@utilitygas.com>

Sent:

Wednesday, August 23, 2017 1:52 PM

To:

Meador, Wendy

Subject:

RE: Next guarter Nymex Estimates

Here you go:

Oct 17 - \$2.97

Nov 17 - \$3.02

Dec 17 - \$3.18

Sincerely,

Ron Ragan

Utility Gas Management

Phone (913) 515-2994

Fax (913) 730-8667

Email - ron@utilitygas.com

web - www.utilitygas.com

2.97 Oct 3.02 Nov

9.17/3 = 3.05667 average

From: Meador, Wendy [mailto:wendym@wrecc.com]

Sent: Wednesday, August 23, 2017 1:48 PM

To: Ron Ragan

Subject: Next quarter Nymex Estimates

Ron

It's that time again; I am working on the KY PSC Gas Cost Adjustment report. I need the estimated Nymex futures for the quarter of October, November & December 2017

Thanks

Wendy Meador **Customer Service Supervisor**

Franklin Office 698 Morgantown Rd

Franklin KY 42134

wendym@wrecc.com Office Phone: 270-586-3443, Ext. 3004

Fax: 270-393-2615

3.051de7
.08 management See Jupplier:
.210 transport See Charged

\$ 3.34667 Schedule 11-EPC Bate estimate

Notice: The information contained in this electronic mail transmission, including attachments, is privileged,